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Words and Seniences

CHECK-UP p.8
A word: @, ©, ®
sentence: ®, @, ®
B o0 <9== 1 M2 2 oER 3 ZEtE
HHE 5 ME
A
@u ® He 2 otL? © OF
@ &g 40zt @ L= TXIE Z 5PE}. ® et
B
0 U&= sH=20|M $tL? 1 Li= 0iY &2 QleCt.
2 s Hj7t o=L? 3 Y ol ALY
4 Azg 2ofzt 5 L= #i=51K| ict.
EXERCISE p.10
A 0@ 10 2 © 3 ®
4 @ 5@ 6 @ 70
B o® 1® 2 © 3@
4 @ 5 © 6 @ 70
C STEP1-
0-1 © 10® 2 @ 3@
4 © 5 © 6 @ 70
8 @
*STEP 2
0-2 ©® 9 ® 10 @ 1 @
12 ® 13 @
A
0 @ Zx|oH 1 ® He oC|2 7t?
2 (® HL = Ho|PLH 3 (b Jle FIEsit,

4 @1 2XS EO0RBIC

6 (@ L= AMIHE Z0f6HR| eh=tt.
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Nouns, Articles

Lesson 1 ® Countable Nouns ! 4 /= 24}

POINT CHECK pp. 15,17
A 0 S4E 1AM 2 A2 3
4 14 5 7iid 6 A= 7 ANE
8 T
B 0-1 adog 0-2 three bags 1 apen
2 four cars 3 five eggs 4 achair
C 0 ants 1 toys
2 birds 3 eyes
4 radios 5 roofs
6 benches 7 tomatoes
8 actresses 9 foxes
10 dishes 11 watches
12 ladies 13 countries
14 libraries 15 cherries
16 cities 17 babies
18 leaves 19 wolves
20 wives 21 knives
22 shelves 23 thieves




0 geese 1 children 2 oxen 3 mice
4 men 5 feet 6 deer 7 people
8 teeth 9 fish 10 women 11 sheep
p.18
0-1 a 0-2 x 1a 2 x
3 x 4 x 5a 6 a
7 x 8 a 9 a 10 x
*STEP 1
0 cars 1 parties 2 tomatoes
3 keys 4 watches 5 dishes
6 teachers 7 toys 8 computers
9 dresses 10 classes 11 churches
12 leaves 13 maps 14 photos
15 roofs
* STEP 2
16 zoos 17 heroes 18 oxen
19 countries 20 thieves 21 policemen
22 mice 23 children 24 people
25 fish 26 videos 27 geese
28 sheep 29 wives
0 girl, girls 1 peach, peaches
2 piano, pianos 3 shelf, shelves
4 city, cities 5 deer, deer
p. 20
0 wife 1 peach 2 ox 3 goose
4 baby 5 child 6 person 7 zoo
8 potato 9 mouse 10 deer 11 tooth
12 fish 13 knife 14 key 15 foot
0 fish 1 boxes 2 radios
3 tomatoes 4 matches 5 strawberries
6 photos 7 roses 8 thieves
9 women 10 buses 11 leaves
12 children 13 butterflies 14 oxen
0 apples 1 acar 2 flowers 3 friends

4 bag 5 cats 6 carrots 7 apiano
8 student 9 chairs 10 men

0 Lh= AR CHA ZHS RIEHCH

1 J0i7l= RkSAE7EE o QAT

2 Liof7il= 20| @5 &0| UCh

3 Lozl 277t & Ehtof it

4 U= 7HdS SiLh Sk

5 Tz 10| M| OF2|S 7kX|1 QUTH

6 152 g20| HRsit.

7 OS2 Lot & ChE RIEICH

8 = shdo|ct

9 R2|= QIX} Ul JHS ST

10 OfX Xt s+ &t

p. 22

0 glasses 1 knife 2 peaches
3 stories 4 gloves 5 teeth
6 sneakers 7 photos 8 toys
0® 10© 2 ® 3@
4 © 5 ® 6 @
0 wolves 1 children 2 geese
3 babies 4 kites 5 shoes
6 sheep 7 deer 8 leaves
9 watches 10 classes 11 brushes
12 pianos 13 fish 14 women

Grammar in Use

bags — bag, coats — coat, skirt - skirts, glove - gloves
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13 S117| 0i5 OF2|7} 03 Qtof| QIC},
14 X = ol OIS =, 0 bottle 1 slices 2 bowls 3 cans

4 cups 5 loaves 6 pieces 7 glass

8 bars

01242 U REOIC}. Lt B2H42 0} FOFSICH Lz 31 w2t 7 i, w2
S=5} 5t e, 12| w7t RE 5 WS JpX|1 Q) L= x|0bs ZOFstc) L
@Sst ot Zell, el e gt S 7RXla QI L= X0tz SOfstCt. Lt 0 bottles 1 bowls 2 can 3 sheets
= CH ol A2 W7t X[OHS 7HX|1L ULt 2, AS0[CH L= W7t 27 & Ze|

L 4 bars 5 bags
7t ZHesICH

p. 30
Lesson 2 ® Uncountable Nouns % - ¢i= 24
0 x X 2 0O 3 x
5 x 6 x 7 0O
Pp. 25,27 8 0 9 x 10 0 1 x
math, meat, milk, salt, weather, rain, gold, sand,
soccer, homework, Susan 28 23 2 x 3a
a 5 x 6 a 7 x
0 DREA 1 ZAEA 2 2EEA 8a
3 FYBA 4 DRTA 5 22
6 ZEIDIAb 7 EMTAL 8 ISTA 0 acan of coke 1 Seoul
9 =AITA} 10 SXIGA} 11 DS 2 a bottle of 3 a bowl of rice
4 a piece of 5 Korea
0 Shxt 1 &%t 2 = xz} 6 bread 7 Betty
3 = goiz| 4 St 5 St ARK} 8 water 9 aglass of
6 M7 7 =7 8 5t 10 slice of 11 chocolate
9 st 1= [Z7|] 12 gold 13 cups of
14 homework 15 Christmas
0 glasses of water 1 sheets of paper 16 Three glasses
2 |oaves of cheese 3 bags of sugar
4 bars of chocolate 5 packs of cereal
0 L= AlZto] Hestr,
1 22/= Alofsol| &t
2 L= 0§ 2 o5 Th2 ORlCt
p. 28 3 2 sMolct
4 Uz ADIEES JH| 1 QlL|?
ou 1C 2U 3U 5 Uide Fedoict,
4 U 5C 6 C 7 U 6 Hob= Ui OBy Al =4 5HThg ORATE
8 C 9 U 10 C 1 U 7 U7t 7K Z0lshs 2H5E AT
8 Z 2lofl £7| st of2|7t QlCk
12 U 13 U 14 C 15 U
16 C 17 U 18 C 19 U
20 U 0 Z=2 S2tsh e sttt
1 Jd= M20] ot
0 snow 1 water 2 gold 2 =g S e Es U
3 T g st aRg fisict
3 salt 4 flour 5 love 4 L= Zop} st 5t masict
6 homework 7 money 8 weather 5 St=ofli= AFAIEO| UCH
9 music 10 Monday 11 July 6 LH7t 71& Z0lst= 2412 azlwolct
12 Mary 13 London 14 France 7 HE[o|7l= L7t BICE
8 Jl4= = & Zo| ZRsirt
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10 Li= X|= & 2248 §EHTH

11 J%2 =23 §HoHCt

12 AjZk2 20ICt

13 =Xt & TH0| EH|=[RACH

14 Lt= SH|IE st

15 F2[AOATL 2 2CH

16 =2 M| ZHo| EfX 2{0i| ACH

p. 32

0 © 10® 2 © 3@
4 ® 5@
0 acup of 1 Three pieces of
2 a bowl of 3 Seven bottles of
4 two loaves of 5 five bars of
6 two boxes of 7 acan of
0 cake 1 Friday 2 bread
3 glass of 4 loaves 5 cup
6 pizza 7 Love 8 music
9 France 10 snow 11 salad
12 Christmas 13 baseball 14 packs

Grammar in Use

a Nick — Nick, a Canada — Canada, a science — science,

slice — slices, bowls — bowl
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Grammar in Use

Lte] 0|2 Ho|Ch. L= FHLiCt S4I0[C} Li= £ 72 SOFSITt, U7t 7ta Sotst
= T2 DHBH0|C} Li= HA AZHS OF ZOfSiC), L= 95 8t &, Hojz! £ &
J8|1 | 42 3 122 gt

Lesson 3 @ Articles =/t

N O o0~ ON =2 O

[N}

a A O N = O

0 chair 1 leg

4 brother 5 toy

8 apple 9 elephant
12 ant 13 eye
0@ 10

4@ 5 ®

0 on the right

2 play soccer

4 go by bus

6 have breakfast
8 in the sky

10 study math

0 the
3 The, the

1 x
4 The
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0a 1 an
4 an 5 an
8 a 9 an
12 a 13 a
16 a 17 an

pp. 35, 37
2 uniform 3 university
6 fox 7 doctor
10 arm 11 umbrella

14 airplane 15 hour

20®
6 @

3@
70

1 go to work

3 at home

5 play the piano
7 under the moon

9 in the evening

2 a, The
5 a, The

2 a 3 a

6 a 7 an
10 an 11 an
14 an 15 a

p. 38
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0® 1@ 20 3@
4 ® 5@ 6 © 70
8 @
0 the 1 x 2 x 3 the
4 x 5 the 6 the 7 x
8 the 9 x 10 x 11 x
0 a, The 1 x 2 a, The 3 a
4 a 5 x 6 the 7 the

0 H|2l2 MHMEolC),

1 22 A 2ot

2 = S0l 230

3 Jud= 2XIE (GiLf) & 2otk

4 L= otR0] Ml ¥ &8 S=Ct

5 172 BHo|ch

6 L= O|7f OfzL

7 152 YY0i| & H ZAfztof ZtC

8 Li= ¢l 5t Xj2et Zo| &t ol &

0 Li= AHAS & off ZFA14 QUCH 3 AEH = 2T

1 UP7F 7K Zoteh= 282 OFPLt

2 o2 7 & of2|ofA 2{0|S =Lt I 7= 30t

3 f2l= g dof & B it 2ot

4 1= m2[7F ofZCh

5 X[GHE=E 30| 7HAY

6 =2 7|EIE ZICh

7 B2 SZ0|M =0t

p. 40

*STEP 1°
0 x 1 an 2 x 3 a
4 a 5 x 6 x 7 x
8 x 9 an 10 a 11 an
12 x 13 a 14 an 156 a
16 an 17 x 18 an 19 x
20 x
* STEP 2~
21 the 22 x 23 a 24 x
25 the 26 the 27 a 28 x
29 a 30 x 31 x 32 the
33 the 34 x 35 a 36 the
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o g » WO N = O

0 play the violin

2 have breakfast

4 the sun in the sky
6 once a month

1 play tennis

3 go on foot

5 study science

7 speak Japanese

0 ® 10 2@ 3@
4 ®©
O= R&=rLf. [EHSIA| g2 st
@ Li= g7l Z3C0H [2Y o] ® olzi2 7i72lch.
2= LU0 F H Soj| ok [~OtT]
@ L= otF0f 5t 8 XEHE EfT
® JH0f7l= RLt0] st QAT [SHSHA] 942 5]
Lh= M2|7F of=oh. [EY 9]
@ J= 0|7k ot=Lt. ® RIL7W7F St AL? [SEGHR] 42 GiLf]
T E2 EH QAT [Hohs AR E= M 25 21 = A
@ J0|I2FE 1 © 2= 7IES EIh [247] €
O WS2 M2 & 0T [Reh= AR S AR 25 200 = A
@ MHoi| BHARL. [AlZH © 3 7PilE e BTt
p. 42
0 x 1 x, x 2 the 3 a, The
4 x 5 a 6 The 7 an, The
8 an 9 x 10 The 11 a
12 x,a 13 a,The 14 x 15 The
0 dinner 1a 2 an hour
3 bread 4 in the sky 5 lunch
6 math 7 apen 8 work
9 by bus 10 a week 11 The camera
12 an egg 13 The boy 14 English

Grammar in Use

| get up at 7:30. | eat toast and @milk for@breakfast. | go
to@'school at 8:30. | have six classes. | IiKe@science.
| play the piano in the music class. In the evening, | play
@badminton with my family.
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7 Uolplis 9410] it ot 1 2ur2 EE Aotk L= Zo0] 8t o] TRsiCt.
8 1= ofufert, U TRt 8 224 sert
9 92l 7AI0 HUS B, 6 @
10 1 OIXFZE Lol 0L, * LH= oAloll Fxf2lof Sct.
=l = st ot shLt Q)0
2 u: S;g |A1H| o ¢L1|O<;<L% £$5Jtt 7 chidren
13 U 2 QIBS siLt lsich 1 ols bkt CIOIE Fr ol SoIEe =
14 Lt of2 of HHS ) X0l 7ict 8 leaves
15 A JC Lo 51 AL L AEO[0F LIRSl 5 247t Lfo] @At $lof ek,

9 loaves of bread

B Lt ofe = Hojels dict,
0 X4 =S AjZho|Ct 10 ®©
1 J= nSsH4olct @ 1 37|2l= oje Act.
2 Li= ofR0)| 8 A2 Z7E STk @ 3 M2 7t4 7t
3 Ui oisd2 we T ZO0IEiCh (3 IE2 0|20 AtCt
4 ot=0] = ME = @ 3 QEIX|E2 Aldsict,
5 Zue Hxt ® JU4= chstol| CHACH
6 Lt= oS Helth Sl universityS| 3 2|7t BIXFZ0|2 2 [9o]2 LS. LIHE|= [9il.
7 Ho| 3 X LI? 16
8 2] of= oj stay Zict © = 8 7 Oh4E =i
° L”Lf;;j;iiij;i* @ Jui= 242 wElSS Fotsict
- B ees = ® 9 Ml ofi7} ) 9lof Stk
11 02l 7lojtE B of Z4R|D Qick 1 Floljeks Qefsigict, @ 921 5Al0l A 8t T4 halc
12 1= 92 it 27 SiLf, E0KE £ 20t Fasic, © 152 aicjos HirleF Frt
13 1 2He 92| ¥ Hiart 814 3 shoop
14 JlH= FO{E &sict

.
AL

LH= 7A| 3020/ LOJHITE L= EAESF QE OFR AIAIR Y=L, L= 84| 30 @ el Mol Bats

20f SHmof ZiCh L= 0441 74e] £940] QUCH Lf =

& AlZt0fl TOHE2 GIZBICF, X Hofl= FHE D} by

@ M =HE st
® D4 o o4 S0t FHLICHON ZHC
fd: D ->money @-art @ -homework (& - Canada

13 study, math

REVIEW TEST (D: LESSONS 1-3 p. 44 s T2 f0fl BRAL x

14 twice, a, month

1@ 2® 3G 406G 506 60O 8i4L: ~OtCh ol SEO2 Mol= a

7 children 8 leaves 9 loaves of bread 15 9

100G 113 120 13 study, math ® 3= ETE AHFE SiCt

14 twice, a, month 15 B3 16 @ @ 20 0{ STt

17 bags, cups, eggs 18 ©® 19 @ giiiiﬂ%;il%ra soltt
®

20 sheep, geese, deer = Q50 =72 si),

2|
fd: Dthe @The @alZdAdl @The Othe

1@

s uniform@| & A2|= 8RS 10|22 a7t S0{ZITE LIl an.
@ Lt= Qx| stLtE HsiC

2@ ® 20f= Ci2[7} 0fg] i,

HE:D+-s @+-es +-es @D+-es O+-es @ LiolAl 322 = AYZ=AIS.

30 ® U 2| HesiL|?

e DQB@ yE 2 HHI+-es ® +-s M D an @an B An @ the [Hoh= AR E& AMRHO| 25 Of
4 (5 =M Oan

sid: O SEGA-SETEAL @ URTA-D[BA 17 bags, cups, eggs

G SEYA-SEYAM @ FHYA-FYYGAL © SEGA-FEEAL . Lh= UIIR of 2X|, 21 oF 7, SHZF ot |7t L5

503 < Lh= YOIR & SX], @7 F &, 22 M 7H7F 2esich
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“HLIE M2E T iz,
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s 97| 0l the, 25 ol A x, B Yol a Lesson 4 @ Personal Pronouns ©/z/ciziAf
19 @
efel 5HHo| RUCk
OS2 AIS M| & L POINT CHECK pp. 49. 51
* Lh= O #Au| S ORI
20 sheep, geese, deer A 03 = 13 1=
A 850 2Oo[L|? 3 1,& 3, &t 3, &t
B: 8, L= & & OI2], 7191 Ul 0f2], Al& Al 0f2]7} 204, 6 2, ¢t 2, =
SijAd: CHof 40| DYO0| 22 H2: sheep, deer
£Hofo] LS} HHY= B2 goose — geese B o 1= 1 2Ghss L=
3 L= J@E@)Ee =
WRITING PRACTICE (D p. 46 6 J4E 7 JH= 8 2=
9 R2E
A 1 an actress 2 wear glasses
3 four bowls of rice 4 in the sky C 0 him 1 you 2 us 3 them
5 once a week 6 speaks Korean 41 5 it 6 she 7 we
7 aheadache 8 Two thieves
D estEP1-
e 0 UEISE 1 22l 2 1(0Ee
2 Do you want milk 3 o] 4 70| 5 Ljo|
3 | want two apples
4 | have homework * STEP 2-
5 My sister has three puppies 6 H(ES)el 2 7 a4 A 8 2elel A
6 The earth is round 9 159 A 10 Lo 2 11 22 (%)
7 We have a piece of cheese
8 My brother wears a uniform E 0 mine 1 hers 2 yours 3 his
4 ours 5 theirs 6 hers 7 yours
8 his 9 mine 10 theirs 11 hers
A 12 ours 13 his
1 L= ofHi & FS it
2 Ltz otEs 7ich
3 J= @Sy 2R o=t
4 20| 5Hs0i|A Ltk
5 22|= Yol st Sits 7t PRACTICE 0. 52
6 = R0 2Tt
7 L= mM2[7tor=ct
8 == & Fo| 7pofl ek A ol azt= 10, 1= 2/Ghe), 2L1=
3 (hey), 2152 4 We), ?2l=  5He), 2=
B 6 (You), Li=[HsI5E]
1 Lie M2S Alsict
2 PRS0 . B 0w, 222 1(e), 192 2 Fhem), 1252
Lt= ARt S 712 st
j L[E éiﬂﬁﬂ CAH:r r 3(me,LE 4, IN= 5 (him), 15
5 U OS2 Zofx| Al OIS 7x12 ik 6 (ou, LIEIH2ISE]
6 X|7= S2Ch
7 2= R= B xZE 7D ATt C o (my), Lt 1 (thein, 22| 2 (oun), 22/9
8 Ul ¥2 u=ss =Ch
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3 (his), 1

5 (her), 11429

0 (yours), H(2l5)2 %

2 (hers), 11H42| 2
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them,
It, 4

her, =S b
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mine, ARCHHEA}

0 his, 274

= 00 & & N O

1 She
5 their

0 mine
4 my
8 it
12 her 13 We
0 hers

4 mine

1 his

9 them

5 theirs

4 (youn), H(815)2
6 (Iits), 1%

1 (his), 22 A
3 (ours), 29| 2
5 (theirs), 52|

A

A

JRs2 159 719Ick
O|A2 19| FoidstCt

1 s{2|j= Jef Ziolct
O AFEE fe(2 Ado|ct
I ®e asef Aojct

1 us, 554

3 Its, 274

5 He, &4

7 her, 274

9 them, SX4

2 your 3 They
6 them 7 his
10 ours 11 him
14 you 15 theirs
2 hers 3 yours
6 ours
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0 They

4 my
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16 She
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1 Their
5 your
9 her

13 He
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2 His
6 We

2 it

6 them
10 hers
14 his

3 hers
7 her

3 It
7 you
11 his

15 our

p. 56

2 Them - They
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3 us — ours 4 We - Our 5 His— He
6 Hers — Her

* STEP 2

7 Us—-> We 8 Her — She 9 we— us
10 she - her 11 Me~ | 12 he —~ him

Grammar in Use

Me — My, he - him, Us - We, their - them, | - me,
Him - He
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010 | Answer Key

Lesson 5

Demonstrative Pronouns

R|AlCHZAL

0 (This), 0l Al

2 (These), OIS
4 (Those), HAS
6 ({his), 0/

0 These
3 This

0 XIAICHEAL
3 XA
6 XA

*STEP 1
0 those clothes
2 this camera

4 this house

* STEP 2
6 Those are

8 This toy car is

pp. 59, 61

1 (Tha), A Af2
3 (hab), M%

5 (These), OIS
7 (These), 0I%S

1 Those

4 Those

1 XAIAEAL 2 X|A[CHEA}
4 XA[EEA 5 X|A[CHEA}
7 XAYEA

1 that man
3 these carrots

5 those bags

7 his pants
9 That robot is

0 Of ALfO[ L 7k Zloh Tt 1 X Af2 W ol=et

2 O|HS2 U etFoltt 3 Li= MZAS 2atth

4 M2 J°| ATAHSO0IT 5 0|ZS2 49| AEIS0lLY.

6 152 0[H=S 2Bttt 7 OIHE2 M HEolck
O|AHE2 Wi LSO0ITt MAS2 M HES0ITt
MA2 7T, 3 0|H2 Ui H=0ltt
MAS2 F7|S0|ct 5 O] AFMS2 Ui stdiS0lTt

0 MAS2 I=2| HiS0Ict 1 L= O] ZS0iM ottt

2 O|Zis2 19| E2AS0lTt. 3 2= 0| A=ES Hi2Ct

4 H2 X 3°s ==t 5 O|nS2 g 3rk

6 X w2 LMISITE 7 JS2 0l HI?IE &2 + ATk

* STEP 2+



0 computers 1 egg 2 mittens
3 city 4 buttons 5 children
6 nurse 7 calendar 8 park

9 peaches 10 windows 11 plate

0 This, That 1 These, Those 2 This, These
3 That, Those 4 This 5 Those

*STEP 1°

0-1 These are my cameras
1 Those are penguins

2 These are her rings

3 These are my brothers

4 Those are my cousins

* STEP 2«

0-2 These cameras are mine
5 These rooms are dirty

6 Those flowers are beautiful
7 Those kittens are so small

8 These cars are nice

*STEP 3

0-3 | want these cameras

9 Do you like these vegetables
10 Look at those mountains
11 Will you buy those T-shirts
12 Wash these dishes

0 0|2 Jof ZHolct
XMzt a9 Z=olct
1 o|HE2 E7lS0lnt
MAS2 Ys0|S0ICt
2 O] A2 Ll LIt
olEe Lie| ZRHolC)
3 xze golct,
HEe geolct,
0 4= Y Ao|gUch
A tlge B gixich
*STEP 1
0-1 0| Ui Fini2ic / 0| %S2 L Fjoi2tsolct,
1 Xz "galolct / HSS HASO|C
2 0242 42| #HXICE / O|HEE T4l BRISOICt,
3 0| MRS L S HOIC / 0] ARRKES L S MEOlCt,
R AIRHS L AREOICE / M AlRIS S U ALESOICt,

* STEP 2

0-2 0| FHate Lie] Zolck,

5 0| g G} / 0] S e iR,

6 X S o} / X ZSS o,

7 X A D0l Y FLE /K Al 2
8 Ol &tz HUCH/ 0] XSS AURUTh

* STEP 3

0-3 Lt= 0| FHH2tE 2Bt / L= o] 7i
9 U= O A{AE FOsHH? / HE o] 4
10 M &2 /M LSS B

/0| 7tH2tE2 L] Ziolct.

Yo|S2 FE FCh

11 HE XM EMEE # 7?7 / HE M =& & 7L?

12 O] HAIE HO{2t. / O] HAISE Mot

these robots 1 these

those buses 7 these

© o W o

these teeth

This, present
these, potatoes
this, city

those, hats

0 o & M O

these, letters

p. 64

bottles 2 those keys

those knives 4 these dishes 5 those babies

pears 8 those men

1 that, cook
3 that, rock
5 these, bags
7 this, music
9 that, box

10 Those, grapes

0-1 That is my school teacher
0-2 Those books are great

1 This apple is yummy

These are his shirts

These blouses are beautiful
These are my watches

Look at those men over there
Can you see that bird

| know those children well

These leaves are yellow

© 0 N O G b ODN

Those buildings are very famous
10 Those are her pencil cases

11 Take these umbrellas

12 That animal is sick

13 This fork is clean

14 | always use these pens

15 He likes those restaurants

16 That movie is boring

Lesson 4 ~ Lesson 5| 011
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*STEP 1-
0 these
3 those
6 tiger
9 is

* STEP 2

10 these letters 11 Those
14 that

13 This

1 that
4 students
7 Those

0 g
u
> 10
|>
fun
rlo
=2
[E
o

7H4712t.

p. 66

2 socks
5 that
8 That

12 these chairs

15 Those rooms

16 those jeans 17 strawberries are

0 those — that

1 These — This

2 restaurants — restaurant

3 girls — girl
5 This - These
7 that — those

9 are—is

Grammar in Use

this, these, that, those

*STEP 1

0 1 010J= O] HLHHES 7HK| 1 =Lt
1 22l= oY X +moplof Zick,

2 X g2 Lo Ziolct

3 I AUe E3{H X 50| ZQo|t
4 T 0| stMSE J22IctH

5 152 YQYUOICH X MKl 7Tt

012 | Answer Key

4 is— are
6 Those — That

8 rooms — room

Noun-Pronoun Agreement

o w =
[}
X

-

|J

N rir
o py

o

8

)

11 s

YA A U

14 /)’

2 she
5 they

8

2
5

it

He
It

»

6 X 0|z & 9fo| Tt

7 X Ol0|E2 =55t m sHME0|CH

8 XZi2 Jue| ™sir|ct

9 O +YG&2 MY IRsiCH

* STEP 2

10 O| HX|ES ¢iX| Otef.

12 1 Xk 0] oXtES K7t

14 = X Gstof| cish ot

16 U= X FHIXIE X5 ert

A: O] AFAM x|oprt otgof EHL.

B: D1t ofF & oj23 .

A D0IIQ. 0] B3 410 2 £ QlLIR?

B: 220|%. 07| YELICH

AKX ZEF X ZAE Y Z0t2.

B: Ul MZES 7MLt 222,

Lesson 6 @ Possessive Nouns,

HAfe| 287,

*STEP 1
0'’s 1'’s
3’s ’s
* STEP 2
6’ 7’
9'’s 10 ’s
*STEP 3
12 ’s/’s 13 ’s/’s
0 he 1 they
3 he 4 we
6 you 7 they
0 it 1 them
3 us 4 her

0 REl= I Y2 HASIT

2 L MES Lol HX|S 220

4 1712 22| ote| Myo|ct,

O

ro > mh

pp. 69, 71
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0 sister’s 1 book’s 2 babies’

3 doctor’s 4 children’s 5 snail’s

6 mother’s 7 Mary’s 8 giraffes’

9 Mark’s 10 airplane’s 11 friend’s

0 Anne’s 1 my grandparents’

2 my children’s 3 my cousin’s

4 Jake’s 5 the kittens’

0 We 1 His 2 it 3 theirs

4 He 5 them 6 hers 7 They
her 9 theirs 10 You

2 o] RSO|TE. / 0] RE2 el Zo|Tt.

Lol 22| Fo|ct / 2 T2 Lie| ZRREe| A0|Cf,
Of0|=2| afwr}. / M st Lif 00| 0| Chi|= 320t
AFEC| OHIFELY, / 11 OHItE = Lif ARES| Zi0|CH.

2 7|Ef= Ho|=2] Zolct.
7

/
9| FYSoIct / M eSS 2 M| 2ols2

0 L ¢iLIS3t L= PstE B8 7iCt / 22l Yt B8 it
1 E°| Qo MM 0§ 7|7t ALt / 12| Poi MM o2 7|74 Act
2 U HEd2 HXE 40 I} / L} gEde J2s 20 ot
3 1 F7|S2 1 0f0|Se| AoIct / 1 FI|52 252 AoICt
4 22| Ot X|= =20l ARICE / J= T30 ARCE
5 Li= LIo| RS AIHSITE [ L IS5 MSHCH
6 1 orF2 Wi n&of Zio|ct / O okE2 42| Zdo|ct
7 O SHISE st ZHSICL | OS2 $5tg 3RS
8 HojH|== L 0{S 4 Qtch. / HO|H|E= L4 S QT
9 Ui ZI7E2] Z40ICE / T Hil= 252 Z0ICt
10 Lot o] &2 WSOoIC / 13|52 4SO|ct
p.74

My father’s computer / my father’s
Jenny’s dress / Jenny’s

The farmer’s barn / the farmer’s
Sam’s wallet / Sam’s

The monkey’s tail / the monkey’s
Katie’s umbrella / Katie’s

The truck’s wheels / the truck’s

Jack’s backpack / Jack’s

[N

|

N
R ——r

-

*STEP 1
0 Her
4 Her

* STEP 2
7 His
11 They

* STEP 3°

12 our

0@
4 ®

0 his
4 it
8 She

12 prince’s

sS4 ol 2

o
LhE stof 2k 22

1 Their
5 Their

8 them

13 They

>
0

1 They
5 His
9 her

1 Ours
They
9 hers

(5]

rlo
40

C

|J

0%
S

rir

R
o o
gl
[l
ol

2 They 3 it

6 It

9 It 10 Its
14 We 15 You
ah4o|C|

i)
)
1
0 >
ne
S
il

un
rlo
Ut
n
n

[CF.

fCt.

p.76

2 @ 30©
2 lts 3 We
6 She 7 them
2 their 3 girls’
6 Its 7 Women’s

10 We 11 city’s
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Grammar in Use

mother’s, men’s, father’s, his

A

0 Az MdEol Wil Att

1 2 A7e| 0[of7|= SZCh

2 1 540 M2 OtSEC.

3 Felel Ao|== BHRICH.

4 1 2ES9| ofigts=2 AH=0ICt

5 Cf|ojH|=o] Y2 MRSICE

B

0 U7t 7k 05k 3412 mAICH %2 ATt

1 HlojEet =2 2&8go Jltt. 152 s7E Bt

2 1 gXh= AY0|E o Ot2| Z7hX|1 ULt 29| 0|F2 Holrt
3 M Lh= B IZCE 2= of7te| S4{0] HRsitt

4 2= 10192 it diHel 2o 22| ZiFet

5 Li= 3 &S QIC} 19| OHHA|= ItSfXICt

6 10| 0is 2 TIFESIC = o177 BT

7 Lo| ZREEH2 AE X|H2R O|ASH 0L L OS2 YE5H 4T
8 1 gsh= MOIRICE. R2l= 2AE SOttt

9 I AU4E L O|RO|C} L= JHE o OFF RIHICE

(W -1
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oLl = T S}
2 A2 = U -
2o p o MR
W= o W o
T
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Grammar in Use

A O|A2 =7o| X[Zo|L|?

B: 22 22| 0{mL[9] Z{0[ok.

A K] 52 2 2oL A2 Y& XIY0|of, 0] Ft== F71ef AOo|L?

B: 22 22| OfX|e| F1=0k 2732 19| XZo|H]!

REVIEW TEST ©: LESSONS 4-6 p.78

16 2@ 33 406 50 6G 706

8@ 9@ 10 @ 11 hers 12 him
13 those 14 Tom’s 15 children’s 16
17 3@ 18 they, Becky’s, her 19 his 20 ®

014 | Answer Key

1
f8: D -she @-she @-she @-she O-it

20
HE:D-it @-it O-they @-it O-it
30

A O|ARE2 2| 2tHo|L?
B: OtL|, OS2 Lte| Z0] OfL{of.

(® 372 19f Zo|ct

@ 1 FAse 159 Aot

© MA2 | Zolet.

HE: D2/ QARUYA O ARUYAL
@ ARUIEAL © ARCHYAL

6 @

< M gtEus g 2o XSS 2t

70

sid: G - Those

8 @

@ olAH2 M RIS
@ MA2 M RS
3 O|HE2 M At
@ MAS2 M Xt
® 3% M ASRIC

XICh
XICH,
o[t

SXIE0|ch
SXIEo|ct
¥

)
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>NTIr N
Ho
o
10
gl

17

FOISHX| gL,

olct,

© O
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0l
R3]

ird
0
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=)
ful

N

@ ol

In
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[>
n

A

M @ - my

10 @

@ 0|z el Solct.

@ XN Ej|A= TL49| Zdo|ct
3 O A 7HES2 SiXICH
@ M2 HAH2C

® Of At LY EI7* mij2|Ct.
|M: @ - That

11 hers

12 him

13 those

14 Tom’s

SilA: HAb+ s



15 children’s

s E7E 248+ s

16 @

® Mz|et Lhs £2 Zl7ct

@ 2|2t HQl2 il QLY.

@ U] 20| 2 oi| A

@ D SHES 283| Mg =Ct

® W atEEL 25 Chgsict

fid:D-We @-They @-They @—-They & - They
17 @

® o]z oflz|e] aolct.

@ goL{e] Aol ofc] UL|?

@ W&ol 7tete o act.

@ XMzie 22a| 2iotef slojct

® U dale] BAIS 7HX| 1 QlL?

S{M: D ->hers @—-hers @ -his @-hers © - hers

18 they, Becky'’s, her
19 his
S4: his= 2RAT AR

20 ®

- XIS S 22 YT IR W2E Jix

m}

HEAF = 7HK|2 28 4 ULt

WRITING PRACTICE @ p. 80

A These are my raincoats
Those are rocks

These theaters are very big

A WO N =

Those tigers are white

It is a children’s menu
The man is Peter’s uncle

They are students’ notebooks

A WO N =

Its size is small

C 1 Itis expensive
2 His name is Jake

3 We need to take a taxi

A

C

1 JHOAIE 7140] Stit IC. 2232 HIMTE

2 Ltofli= ob=0l & ¥ Itk 19| 01§ 2 Fo|3Lh
3 CloH|=St L= SRAC. PEl= BiAIS EfOF BICE

Be Verbs

Lesson 7 @ Be Verbs ez 4o

SATHA LA

POINT CHECK pp. 83, 85
A 0(s), ~0ICt 1 (@m), ~oll ALt 2 (is), ~0ICt
3 (are), ~OICt 4 (is), ~0 ACt 5 (are), ~0f RACt
6 (is), ~Olct 7 (am), ~O|cf 8 (are), ~0il ULt
B 0 are/Were 1 is/He’s 2 is/It’s
3 am/I'm 4 are/You're 5 is/She’s
6 are/ They're
C 0 is, not/lIt's, not / It, isn’t
1 are, not / They’re, not / They, aren’t
2 is, not/ She’s, not / She, isn’t
3 are, not/ We're, not / We, aren’t
4 am, not/ I'm, not
D o0 A:ls, she B: she, is
1 A:ls, he B: he, isn’t
2 A: Are, we B: aren’t
3 A: Are, you B: am
4 A: Are, they B:they, are
A
0 122 ¢fEfolch 1 L= U 2of Qlct
2 &= Q| 3 152 7|7t =Ack
4 2 %0l At ol QU 5 2S2 U 0 elof ict
6 %S ARCY 7 Lt o] ATk,
8 R2|= APRHoj ot
C
0 72 Wi E2|7t ofct, 1 252 Fofl AR gich
2 Tl B2 UK 20t 3 R2l= £ZA gt
4 L= HYUSER| 2t
D
0 T4 50| 0f2C,
A: JldE 50| 0/2L? B: &, 5ok
1 2= bl ZEAICH
A: J= HI#T| ZEAL|? B: OfL|, 2&X] Q40F,
2 22l= shmof it
A: 22|= stunof £QiL? B: OfL|, 2&X] Qt0F,
3 L= ZHSACH
A: Ue ZESARL? B: &, 5ok

Lesson 6 ~ Lesson 7| 015



4 152 sPdo|ct 4 Tl Lol Mol ofL|Ck 5 152 2A} ot
A JE5E shdo|L? B: 8, o} 6 242 HX| 4Ct 7 152 SEO| UX| edCh
8 L= 7I&sHR| it 9 Tl b7t ofL|ch
10 T L 20| OfLICt 11 U= &o| MIX| 4LCf.
p. 86
* STEP 2
0 ~0il QUC} 1 ~0|Ct 2 ~0f Ut 12 LH7} =502
3 ~0|C} 4 ~0f ICt 5 ~O|C} 13 2SS EH|LA MLES0[L?
6 ~o|Ct 14 U= 2ol QL?
15 1242 U7t 7He Z0tst= Ao|u?
16 4= 538 ERL?
0 am/I’'m ha
/ ppy 17 28l 05 S
1 are / They’re empty 18 1= chsrMOIL]?
2 am/I’'m busy today 19 7S QlL|?
3 is/ She’s in the house 20 OS2 TARf QUL?
4 are / We're their parents 21 22l= SHl=RH?
) ] 22 Uiz ZEA FL0IL?
5 is/ It’s in my room )
23 e Hef &7L?
6 are / You’re my best friend
7 is/ He’s polite « STEP 3+
24 A J& UQ| AFEO|L|? B: OfL|, JZX]| ot
«STEP 1° 25 A: JZ2 Q| ZOFX|L|? B: 8, %ot
. 26 A IS24S0|L? B: OfL|, JZX| 20
0 are not 1 am not 2 is not 6 SOl " | ok
] 27 A L7t ERILI? B: &, %ot (L= E3{01.)
3 are not 4 is not 5 are not 28 A Li= ZATH| QIL|? B: OIL|, T2X| 2o,
6 isn’t 7 aren’t 8 I’'m not
9 isn’t 10 isn’t 11 aren’t
*STEP 2
12 Am 13 Are 14 Are p. 88
15 Is 16 Is 17 Are
18 Is he 19 Isit 20 Are they 0 We're 1 She’s 2 He’s
21 Are we 22 Are you 23 Is she 3 I'm 4 It’s 5 We're
6 They’re 7 You're
* STEP 3
24 isn’t 25 is 26 aren’t .
0 She is not weak.
27 you are 28 I’'m not .
1 | am not sick.
2 Are they from Canada?
3 We are not in the church.
0 = 7|Xt etof| Ut L= Zo|ch 4 |s he on the mountain?
2 732 digtL Qtofl QAT 3 JuE 2= =it 5 Is it in my closet?
4 22|= DAl Tk 5 1= mlzsict
Th t quiet.
6 7= 1ude| 2|otsolct 6 They are not quie
7 She is not my math teacher.
8 Am | lucky?
0 Lt= l=aich 1 J2S2 8 Hidch 9 They are not musicians.
2 L= @5 st 3 4= Holl alct 10 Is it my bicycle?
4 22|= 159 2ert, 5 1512 o ol 2I
e == o f = Hf I 2 11 Is she a farmer?
6 U= Lo 7k Elgh EILE 7 JEs 3280t
12 | am not Ted’s aunt.
13 Are we too loud?
*STEP 1+ 14 He is not handsome.
0 2|= X|2HL|AFS0] OFLICE 1 Lh= Bi0zx) eich 15 Are they kind?
2 Tz JHo T EIstEE7F ORI, 3 L= O] AFEl 01 QUX| 940,

016 | Answer Key



© 0 N O o b~ ON = O

O G Ty
a » O N =2 O

o o h WO N = O

0 we, are / we, aren’t 1 he, is/ he, isn’t
2 they, are / they, aren’t 3 he, is / he, isn’t

4 am/I'm, not 5 she, is / she, isn’t

6 it, is/ it, isn’t

T ofsict. / O okstx| eich
Ltz OFZLE / Lb= OFZX| Q4T
JE2 FHLiCiollAM et / D52 FHLICHOlA] 2h|?
22l= maloff QICt. / L2l= malof| QK| eiCt
T ol Uet. / 3= Aol ULf?
D742 W 27 otof Uck / 2z L 2% otof| QlL?
J52 x8sitt / 252 851K gt
T Lte| stdo|ct / TlE Lie| 5t AMElo] ot
Lt= 20| &Lt / Lhs 20] EL?
OS2 8Y7HS0ICt /| 352 897+50] OfL|C.

2742 W RAPEACE / 2z W XA

Jlde s80t / I4es s8L?

LH= B|=2] 0|2}, / L= H|=2| 0|27} ofL|Ct,

2= R AL / 2274 4R A|DEL?

&= ML [ O 247X it

52 FFsitt | 352 EI-sH]?
A H3|E2 §H=2elo|L]? B: &, %ot /ot|, 2%
A Je Lio| AXL? B: 8, %ot/ ofL|, O
A DS 7tL]? B: &, %ot /ot O
A JE 1o JS0|L? B: &, %ot /ot|, 2%
A UE st 2 (7} |2 B: &, JaH./ot|, JZX
A Jl4E S8of UL? B: &, %ot /otL|, JZX
A 22 CHEAL? B: 8, 9tot. / OkL|, JEX

*STEP 1

0-1 ltis an eraser

0-2 They are erasers

1 Itis not a strawberry
We are tennis players
They are actors

They are bottles

They are little girls

2

3

4

5 You are students
6

7 | am a firefighter
8

Are you a nurse

* STEP 2

0-3 | am not foolish

bl

>
82 82 a2

o

____ﬁ__

ve)

40

o O

220t
220t

220t

p. 90

9 She is not cold

10 They are not quiet
11 Is she nervous

12 Are they in the box
13 Is he handsome

14 They are twelve years old

0 am 1 are

2 are 3 are

4 s 5 is

6 They are[They’re] 7 | am not[I’'m not]
8 Is 9 ltisllt’s]

10 we 11 are

Grammar in Use

are / I’'m, not / is, not, are / Is / it

*STEP 1
0-1 JZASE X[RI4S0|Ct. / 22 XMt
0-2 172 X|Q7HCt / OZES XIHE0|Ct.
1 JZE2 97(7}h OtLCt. / O3 Y7|7} OfLCt.
2 Lb= HILA MO/ 22[= HL A HS0]C
3 J& HiRCh / 252 HiRS0|C,
4 72 ot / JHS2 YEOoICH
5 L= olCt / L{s|&& sHdsolCt
6 U= 02! AL / OS2 02! AlHS0lCtH
7 22|z AERHOICH / Lz AE0|CE
8 LS|S2 ZUSAILI? [ L HSAIL?
o STEP 2
0-3 2|= HEEJ} OFL|C}, / L= HEEI} OFL|CY,
2= &KX ALt / D= K| 4t
10 1= Z&oX| ¢t} /| 352 Z&5HX| &Lt
11 U 286t QIL? / JHe 2186t Qu?
12 242 4At bl QIL|? / DHEE MRt ofof RUL|?
13 JS2 ZYZL? ) 2= YL
14 Jl4= G5 Aot} / OS2 45 Ao|ct
0 Lt= 0§ st7}F et 1 J52 W AFESO|CH
2 22|z Jof WAHSO0| OfL|Ch, 3 U= R2|ofA ZI™stct.
4 Tz 2-3of QL? 5 = ZIESH AMO|C.
6 =2 MY Hilotct. 7 L= T|ZotK] Lt
8 72 dlMdstL? 9 1712 97|cth
10 A L{s|E2 ZBEO[L|? B: OtL|, J&X| gfof.
11 A JS2 87 n=ZL? B: 8, ot
A: 0t, Zofl AM?
B: OfL|, JZX| gJot. & Lo|L|?
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Lesson 8
0124 7HX| 012t besAt
is is
is 4 are

0 is, not 1 are, not
3 are, not 4 is, not
6 aren’t
0ls, @ 11s, ®
3 Are, @ 4 s, @
0 are is
3 are 4 are
0 are, not 1 is, not
3 are, not 4 is, not
0 A:ls B: she, is
1A ls B: it, isn’t
2 A: Are B: they, aren’t
3 Alls B: he, is
4 A: Are B: we, are

0 O|Z2 el =710|CH

1 0|2 22| opitke| HIEtO|C}

2 NASE W Ysict

3 NA2 £2 golch.

4 0|ZS2 OFEELCH

0 XNZ2 12| Z10] OtL|Ct,

1 O|ASE FLO| OfL|Ct.

2 0|z2 2| ol ot|ct,

3 NS Ho| Lol ofL|Ct

4 M E107|7t ofL|ct

5 0|22 Ata0| OfL|CH

6 NS L AEFJO| OfLICE

018 | Answer Key

202, P2l Yoo 9l

ole.

Various Subjects and Be Verbs

pp. 93, 95

are

2 is, not

5 isn’t

Are, ©®

are, not

0 A XZ2 2%oL|?

1 A 0|Zd2 Lf oto|A=aZ]0[L|?
2 A O|ZiS2 Lo AME0IL?

3 A NHAUS2 0|ZFE0IL?

4 A XZi2 HML|?

0 X HO[x|S2 Hgct

1 g2 3Qsltt

2 1 2fE= AMSICE

3 ‘d2jet J149| Hok= FEo|ct
4 O IEIXtSE FHOh

5 X 2iC|Q= 2| ZofHX|e| Zio|Ct,
0 2 S107(7}k OfLCh

1 T QAl= EIESHR| giC.

2 0| Y52 2= 40| OfLIct,

3 X etd2 Hlo[=of Zi0] ofL|Ct,
4 MLm= SR AT,

H WO N = O
> > > > >
>
lor
HI

0 is 1 are
4 are 5 are
8 is 9 are
12 is 13 are
16 is 17 is

0 isn’t 1 aren’t
4 aren’t 5 isn’'t
0 A:ls, this

1 A:ls, his brother

2 A: Are, those books

3 A: Are, Jenny and Tom
4 A:ls, her skirt

B: 8, R0t
B: OfL|, JIFX| Lot
B: 8, X0}
B: 8, X0}
B: OfL|, JFX| gfof
B: 8, %ok
B: OfL|, JIFX| ot
B: OfL|, JFX| g0t
B: &, %ot
B: 8, %0}
2 are 3 is
6 are 7 are
10 is 11 is
14 is 15 are
18 are
2 aren’t 3 isn’'t
6 aren’t 7 isn’t
B: it, isn’t
B: he, isn’t
B: they, are
B: they, aren’t
B: it, is

p. 96
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*STEP 1
2 are
51s

0 is not 11s
4 A: Are B:they
8 isn’t

7 are 9 are

* STEP 2~

10 A: Are B:they aren’t
12 Hisarmis

14 are not quiet

16 Those actors

*STEP 1
0-1 Those melons are sweet
1 The animals are weak

2 Apples are red

3 is not

6 are

11 Those aren’t
13 Is the carpet
15 Is that

17 aren’t yours

p. 98

3 These spoons are dirty
4 Those buses are fast

5 The babies are sleepy

6 The answers are correct
7 The buttons are small

8 These books are boring

* STEP 2-

0-2 An eggplant is purple
9 The house is on the hill
10 This girl is an artist

11 The desk is messy

12 That player is healthy
13 That blouse is pretty
14 A car is useful

15 This street is so busy

*STEP 1
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* STEP 2

0-2 7HAS2 E2tM0|Ct, / 7Xl= =atMolct

9 1 TS o 2lof ACt. /2 F2 A 2ol c
10 O] 2452 0|&7HS0ITt / 0 2= dl&7Ict

11 I AMIS2 XAEsIt [ O M2 XIXE2s|c

12 X d52 ddsitt [ N dg= sttt

13 X S2teAS52 ofsct [ M S2teAs ofEuct

14 ASXE2 FESIL / AHSAh= RESIC.

15 0| 72|52 o SFSI) / 0] 72l Uh SFSICt

p. 100

0-1 Itis atriangle

0-2 Our umbrellas are black
1 Her coats are too tight
His name is long

A train is fast

This doll is not mine

Is this dish expensive
This is my pet

Are those games fun

0 N o a0~ ODN

The tables are not round

9 Is the man strong

10 Those books are not cheap

11 A bananais yellow

12 Are these Molly’s cats

13 That is not a star

14 These girls are famous singers

15 Those bags are very light

0 is
4 |s

1 Are

5 flowers

3 is

7 jacket is

2 plants
6 are
9 are 10 Those are

12 is

8 sons

11 are

Grammar in Use

Are / they / Is / he, is / are

0-1 XMAE2 ¢fzoltt. / 22 dzolct

0-2 L RA2 Z2Mo|ct, / 22| RUS2 H2Mo|Ct

1 N 2EE= HR 220 /249l IESS HR & 72t

2 159/ 0|52 Zrt. /19l 0|§2 2Lt

3 7IX=2 2Lt / 7|Xh= ECt

4 0| QIHS2 Lt2| 210 OfL|Ct. / 0] 2l Ltef 0] OfLCt,
5 O HAIS2 HIMNLI? / O] TAl= HIML?

6 O|ZS2 Ul OftS=S0ICt. / 01732 U offtS=0Ct.

7 M AY2 MOIAL? [ M AYSES MO|AL?

8 T EfAt= S2X gt / D HAE2 S2X| %t

020 | Answer Key

o4th

Rt= 2Ol HlL?
| &
H

10 21 A2 K| 94t /Xﬁ =2

EAPS
11 HHHAS2 ST/ HiLiLhE S 3T,
12 0|72 Z2|o] 1Y0|L|? / O|HE2 S2[e| 1Y0IS0[L?
13 MAE2 ES0| OfL|Ch / MA2 EHo| ofL|Tt.
14 0| &= RYS 7L, / 0] S22 RYSH 7tS0|ch
15 X 712 o Z1Eet / X 7SS o 1ot

© © N OGO A WN 2O
R
bila

A: O] 22 017|7t 42| 54 Holof?

Sc ™

r
A AGTLH 12| £0] OFF A

Lesson 9 @ There is / There are
There is / There are

pp. 103, 105
0 ariver 1 aboard 2 abicycle
3 some meat 4 two cats 5 melons

6 three bats 7 some books

There are,(buses)

There is,(@ car)

There is,(a clock)

There are,(four seasons)
There is,(some cheese)
There are, (three towels)
There is,(@ bowD

There are,(two windows)
There is,(some flour)

0 N O o0 A WO N = O



A WO N = O A WO N = O 0 N OO oA WOWN = O

W N = O

There isn’t,(any sugar)
There aren’t,(any people)
There aren’t,(taxis)

There isn’t,(a coffee shop)
There isn’t,@@ny meat)

A W M = O

o

Are there,(flowers)

1 Is there,(@ broom)

2 Are there,(any animals) 3 Is there,(@ magazine)

4 Is there, (an airplane)

0 No, there, isn’t

2 No, there, aren’t

7{2|0f] HASO| ACH

Xp200f Xp7t et of ACE

715 AR Gofl AIAIZE SHLF QL.
1AM AAEO| QAT

O

= =

HAI flofl XI=7t oz QAT
MuEF ol =21 M Fol RACH.
<3 etofl 2R0[ SiLt QAL
7E Floll F=20[ = 71 ATt
S5 otofl LIIEIt oz ATt

1 Yes, there, is

3 Yes, there, are

FRlof £50] L?

= Floll BIXFEIt 5t 7] QUL?

SEH0 20| & ULI?

Zoh ol HX[7F s A UAL?

Shsofl HI>7 |7 & o QUL|?

A: EIX} 2[0f Z0| §F X QAL|? B: OfL], 8101,

A g etol| Hm|7F & QL? B: &, 01

A O otof| ZZS0| L? B: OfL], 8101,

A =8 otofl £50| & UL? B: &, 01

p. 106

0 There, are 1 There, aren’t 2 There, is
3 There, are 4 There, isn’t 5 There, are

6 There, aren’t 7 There, is

8 There, aren’t

A WO N = O 0 N OO O~ ON =2 O

o o A WON =+ O

0 A:ls, there B: No, there, isn’t
1 A:ls, there B: Yes, there, is.
2 A: Are, there B: No, there, aren’t
3 A ls, there B: Yes, there, is
4 A: Are, there B: Yes, there, are
0 acap 1 apeach 2 shirts
3 two children 4 horses 5 any pictures
6 apark

HEL] Qtofl =7+ 7K QT

WAof sHdo| OFRE GiCk

O|X} Fof 2Lto] St QUCH

&t A ol shdS0| 2 E UCH

& otof 20| st giCt.

Ui ZE otof o] | Xt QCH

Z 2l0f Xt50| Bt gict

LI of2ff AH0] 8k & QT

7tk otofl 20| St giTH

A: AT otof S40] B ULI? B: OfL|, 9101,

A: 2| 24 2{of| HIO| S XHR QIL|? B: 8, 04

A Mz ME0] & QUL? B: OfL], 8101

A: A= ol 20| UL|? B: &, 01

A: SOtof 0fo]S0] QlL|? B: &, 04

R otol] D7 Bt QUL

HHL| ol S50 o7 QAT

f
7P etoll H=S0] UCt
Yt 2{of] = ol ofzlof7f QlCt.
SEfe| 7ol 50| §t 02| = gict.
TV Q0| AFEIO] 2 F QALI?

2 AJoll 30| gict,

p. 108
0 ~Of gict 1 ~0| Ut 2 ~0| UL|?
3 ~0| {ACt 4 ~0| gict 5 ~0| UL|?
6 ~0| giCt
*STEP 1+

0-1 There are two bananas

1 There is a kite
2 There is some bread

3 There are boys

4 There is some chocolate
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3 Cf2| Zof £0] st £0|% giCt
S 4 U Z0jofl SF0| siLt QlCt
0-2 There is notlisn’t] a pencil 5 sts0| 20| & QL?
5 There is notlisn’t] a person 6 Of 2ol Mol & 7 Qi
=1 F |
6 Are there people 7 Flofl Efetol IC.
, 8 1o BME0| & QlL?
7 There are notlaren’t] any clocks R
8 Is there a subway station 10 52 0] Ato| BIL} QIc.
0© 1® 20 3 ®
4 ® 0 Aot 2lof 747t st of2| QUL|?
1 Zsh o Zzho| ¥ Zef ok
2 L2 Fof 8t 04xp7} Ik
3 Mgt 2lof o[ F QUL|?
0 1 Hof A1350] & B girt, 1 L ECH S0l 2180] it Uc 4 Hoh Ozl SOk B Bict.
2 Lol & 2x/0) 237t ALl? 3 DE0[0| 71 = 0f2)7} Uk, 5 M eroll Aol & 0f2l 2tk
4 sjof 220 it gict, 5 shsoll SXt LI 6 42| 2i0] eXI0l0}=0| & 217
6 =si0] =0| SIS 9ic 7 L 712k ool Z=2310| 247k QlCk
8 Fdof g0 o7k Ut
9 Z 2lof ZEeto| st QUct
0 @eo| £50| siLtE gick 1 U Xlztofl £0] siLte gict 10 SRS 2I0) Z0HED} St BTk,
2 70| AT} LI 3 SR} Sl0f 271 = o7t Qict A2 SRl AR I B: Ok, €tof.
4 A Ulo] X0 ofRlololS0| Z L B, o] 12 A 7 g asgojtosldr B S, o,
13 A HICHol| E12§S0] QL? B: OfL], 8101,
p.110
Grammar in Use
0 Is there a man on the roof? LH= izt 0t & otof] 2410 & QlLE? P22 SHLEE Glod. | otol| 871
1 Is there a kev on the table? 2 UOf. AFZE A 7H7E Q104. o] of7t Ql0f. T2 BLEE glo]. Lio|Hle 2R, Alzt,
Y ' ofztol wo| QIZ 40(0f, LIt JZIEZ RIS Q2[& £ AUSTH?
2 There are notlaren’t] any cats on the mat.
3 There is notlisn’t] a flower under the bridge.
4 There is a coin in my pocket.
5 Are there any clouds in the sky? p.112
6 There are some bookstores on this street.
1 2 3 4 5 6 7
7 There is the sun behind the cloud. ® ® @ ® ® @ ®
8 9 10 are 11is 12 There, is
8 Are there any balloons in the room? © @
13 There, aren’t 14 Are, there 15 16
9 There is notlisn’t] a chair in his office. ® @
) ) 17 Are, you, we 18 Is 19 20
10 There is a mountain next to the lake. Y @ @
0ls 1 are 2 is 3 Are 10
4 is 5 birds 6 Are 7 is A: 0]Z40] 42| X|R7HL|? B: 8, %ot
8 carrots 9 is 10 are S| 4: this, that2 2 20{EH ito2 Ef6ict,
11 is notlisn’t] 12 is 2®
A @ - it
13 are notlaren’t] H: @~ its
its= CHEAL ite] ARZ0|Ct,
3@
A: 4 tdgo] L4e] #olul?
Is, aren't, is, are, is, isn’t B (@ 2, 9o},
@3 OfL|, 22| of,
@ 8, 3= LI &olof.
(® OfL|, JFX]| 2ot
0 X|E 2/ofl x5 Hol Qlu|?
4 403

1 EfXt 2ol @4 Szt UL?

_ A: ME0[ J149| 0jo[S0|L|?
2 OHE ?[of= 11f0|S0| & Ot2| = @it

022 | Answer Key



=y
S, 152 J149| 0to]S0|of,
8[l4: these, thoseZ E012H they= &SI}
50
(3 HfEL| otof| Q&IX|7F =2 ct,
@ dFL| otof| QEIX|7} SHAtE GiCk,
® dHFL Fof| QEIX|7H=Z QI

=2
= ?IXIE LIEtd t= inS 2.
@

: (D — The water is very clean.

M
=

A gl YA +is
& of

fofl £0| & QUCH.
« LIZ 2lofl A7} 8 o2 QICH,
SHM: There is + THRTAL/ A 2 gl BAL
8 ®
® 3= F7 ti7t ofLC,
@ 34E 717+ OCKX| =X gtk
@ 352 W ZleS0] okch
@ 3732 Efxt ofefol] Qx| Qict
® Lt= S0t2X] gich
sf4: ® - am not

am not2 amn't2 £0{ MX| gH=Ct,

9@

OS2 M ekdso|L?

@ XMzdo| TL42| 7pgtolL|?
® o|zd0| Jof Rf2L|?
W@~ 1s

10 are

SiM: Those + E4-BAt+are
11 is

Sl A CHrHAb+is

12 There, is

SHM: There is+THEAt

13 There, aren’t

s 4: There aren’'t + EHA}

14 Are, there
A Are there + 24FA ~?

2 2| Qef=|X| IUCE
HM:Dae @ae Qis @ae OGare

@ &%t 2tof S0] UL|?

~IF QIOpEt S22 LR o SHAt QHoll= There areS A1, ‘~ OF

RSIC.

@ 0|zi0] L] dHo|L|?

@ XMzio| 2lef Fo|L|?

@ 352 gdstL?

® 49| Aoh= HEEAL|?

M- DIs @ls Bls @Ae Ols

17 Are, you, we

s 4: Are you ~?2 S0{2 I 20| w2t | £= weR ESiCt

18 Is
SHA: Is+Eh= (CH) AL ~2, Is there + THAL ~?

WRITING PRACTICE @

A There are ducks in the pond

The babies are hungry

My bag is notlisn’t] big

Is the juice sour

This hat is expensive

Are there any stars in the sky

They are notlaren’t] easy questions

Is that his address

© 0O N O oA~ ODN =

There is a boy behind the door
10 There are notlaren’t] any eggs in the bowls

11 Those chairs are notlaren’t] comfortable

Simple Present Tense, Empty

Subject it

Lesson 10 @ Simple Present Tense
derSAte] SRAK|

POINT CHECK

p.114

pp. 117,119

A 0 run 1 eat 2 go 3 love
4 kick 5 think 6 know 7 like
8 read 9 drink 10 study
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pt=kl= Set pt=kl= St
HEtgl= Zle HEtgls 2iE
oEEl= st otEElE= et
0 walks 1 drinks 2 does 3 enjoys
4 has 5 helps 6 invites 7 pushes
8 stays 9 finishes 10 studies 11 brushes
12 dances 13 drops 14 runs 15 teaches
16 fixes 17 dries
0 My dog,(runs) / 3, tt
1 Mary,(loves) / 3, &
2 My mom,(smiles) / 3, ¢t
3 Joy and her sister,(like) / 3, =
4 She,(dances)/ 3, f
5 Koalas, (sleep) / 3, =
6 Dan,(flies) / 3,
0 Ui &2 U Aojtrt
1 Lh= O 3twol| Zith
2 22 M 0=OflA Ik
3 Efigf2 SZ0IM E£Cf
4 Ui L= &y MUElg 9 02| S Blert
5 = 0iF Lo S75 SHtt
0 Ui 7H7F LofA g4 =2Ct
1 02|z AIRE O ZOfEHt
2 22| Yot Ui 02 Fl=th
3 Z0|9f 0iSH2 ME SOI3tTt
4 4= E2 R H &0
5 FYLt= 5FF Y Tt
6 T2 ols J2irt
p. 120
0 watches 1 flies 2 fixes 3 wishes
4 misses 5 passes 6 goes 7 dries
8 does 9 buys 10 studies 11 has
12 cries 13 mixes 14 draws 15 meets
16 lives 17 brushes 18 works 19 teaches
20 catches 21 washes 22 tries 23 enjoys
24 gives 25 closes 26 waits 27 wins

28 carries 29 swims
32 touches 33 thinks

024 | Answer Key

30 leaves 31
34 finishes 35 says

drives

0 cleans, clean

2 plays, play

4 laughs, laugh
6 wash, washes
8 carry, carries

10 do, does
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*STEP 1+
0 rides
4 shout
8 watch

1 climb
5 plays
9 clean
13 flies
17 helps

12 play
16 waves

* STEP 2
19 teaches
23 do

18 jump
22 sleep
26 drives

0@
40

1 talk, talks
3 turn, turns

5 enjoys, enjoy

7 goes, go
9 has, have
p. 122
2 buys 3 studies
6 dries 7 fixes
10 walks 11 smiles
14 goes 15 has
20 misses 21 mixes
24 washes 25 swim
2 ® 3 ®



]
i
m
n

e
I
mo X
o
Y

|J
un i
=
°
o Mo

m)

M}
im
ir o
°
|u

=
oo
o
®
2
L]
0H
i
o
n

2|

I
o
A
S
°
>
2
>
b

(S
i
2 °
o
T
s

[0
P b1
oo

rir

n

In
P o
B3
ot
i
4
i

g 9
tolr

i
1o
El

[
Jon
0=
fujn
o m

© O N O O A WN 2 O
[
B
z

FJ”’—

1> oM

jo o

—h
o
]
k=l
i=}
N
Ral
ojr
do

-
jry
|J

0z
o
i
on

X

M o 02

i=4
I
i
Uo Hn Mo M
0

—

N
JLEc et
0 g Mr
ot mn
=
~
—Ovﬂ
njr

[nny

T
i<}
o o
ne
=)
in
>

=2
=}
TN

13
14
15
16
17

[
e 12
S o
- Ho
m’io rio
rlok

rin

jnl

=
My
rlo
H
ro
un
mjo
I
rir
n

* STEP 2
18
19
20
21
22
23
24
25 #iat

26 &2
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® MES0| LIF 9|2 ZLOZICY. [fiies — fly]

2 @ 171s0| 2oz g

® 1 20t 9RE 0f

2t
AT

f. [runs = run]

h

3 @ dE oL AREIS ZHX| 1 Chet,

® &2 HOiCt Lt &4 =Lt [play — plays]

4 (@ 11 00| SO FCHoilA ECt,

® U 0|2 23 Z2tRAE =L [wear ~ wears]

0 takes

3 misses
6 has

9 wash
12 tries
15 studies

1 kicks
4 wish
7 borrows
10 throws
13 writes

16 touches

2 crawls
5 passes
8 enjoy
11 fly
14 watch

17 closes

p. 124

0 x — plays
3 x — does
6 x — watch
9 x — goes
12 O

Grammar in Use

10

4 x - studies
7 x - has

10 x — calls

13 x — opens

2 x — cleans
50

8 x — flies
11 x - talks
14 x - fall

love — loves, read — reads, go — goes, take — takes,

have — has

L
)
™
T
[>
UL
et
o

1
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£ gict 5 1 HAE 1 HEIE XL

X EMol= @efEl MS0| QlCt 7 7t Hig YeIch

L= 32 3418 &7Ict 9 T AFES0| &2 Ml=Ct
10 1 M 35 HRICL 11 1 AHS0| Ha| otk
12 W 2 G5 =Sict 13 1 LR0I2 AMS #Ct
14 S O|L7H O EES 20t 15 22|z FAE SEEit
16 Oftit7t 1 Hg ghxICh
17 D AES ittt 28 Bt
0 Z2 mot-E EIC},
1 CHd &2l 010|S0] OFFE it
2 Tl EfAIE Hasich
3 ALl MAg =7 Hofl XIS Sict
4 T4 nAoM 3ESHH
5 10§Ql2 ZXIE &rt
6 Ul ol gxt 1 47|15 2ok
7 O 82X Exte 2 EHe 7R Lk
8 1 M7t =0] Hof,
9 U Zl7e= Ee2 S0t
10 19| 4Ot TLH0fA Mafketct
11 D Hie= 2S o Wl sk
12 1O A 20| 9eCt
13 11 20| HMHs| Felct
14 1 LIRIS0| HofTict

Grammar in Use
Ell= SESS MYEL J4= SSS0il tiE S 2f=Ct. J4= FU0ICH S
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Lesson 11 ® Negatives & Questions of
Simple Present Tense
UHSA BRIAHS| 2P} ol2 2
pp. 127,129
0 does not 1 does not 2 do not
3 does not 4 does not 5 do not
6 do not 7 does not
0 don’tknow 1 don'tlike 2 doesn't live

3 doesn’t arrive 4 doesn’t have 5 doesn’t study

6 don’tlearn

0 Do 1 Does 2 Does 3 Do
4 Does 5 Does 6 Does 7 Do
8 Does 9 Does 10 Do 11 Do

0 Yes, he, does 1 No, they, don’t

2 No, she, doesn’t 3 No, I, don’t
4 Yes, they, do

0 Ol2l= O P8t Z0fstX| eb=Lt.

1 W iL|= Liet &PAl 7kK| ed=Ct

2 AMIHIRES 047|M Xf2tX| gb=Ct

3 D Jle wel ge|x| gbeCt

4 1 7[xk= 097]0f MX| =Lt

5 Lio| RHH2 TVE EX| gb=Ct,

6 152 2™ A0JLEX| =Lt

7 Jl4s WAEZEE 9X] obeCt

0 Li= J9| MSHHSE ofct / L= 19| HeHSE RECH

1 Lh= AfRtE Z0t6ICt / L= AFE E0tsHX| 24=Ct

2 Tl SEof AT} / Ol ST AR 94=Cf

3 I tHAE 2 TSI} ) O HAE 2 TASH| =Lt

4 U ¢iL|i= OFElg MLt / L L= OFalg 9| k=Lt

5 1 AH2 M| ZESICH [ O AH2 5| ZR5HK| ob=Ct,

6 1 0[0|S2 YOIE 2Lt / 1 0l0|&2 YOS i RX| =Lt

0 U&= s Z0taiL?

1 Dl shuof 7i?

2 HIE Yot 7?

3 U= J9/ 0|58 ot?

4 1 50l gol QUu?

5 49| o5& 0] ®g ZO0loL|?

6 HEol= 2T ofL?

7 52 M0l AfL?

026 | Answer Key

0 A &2 XHE 7HX[1 QL? B: 8, %ot
1 AL J0H0|SE HME 9fL? B: OtL|, JZX| fot
2 A HQl2 U UOJLIL|? B: OfL|, JFX]| &ot
3 A Ue 7IRIE EfL? B: OtL|, JZX| L0t
4 A JS2 1O IIXE Z0fst|? B: 8, o}
p. 130
*STEP 1
0 doesn’t 1 don’t 2 doesn’t 3 doesn’t
4 drink 5 don’t 6 doesn’t 7 don’t
* STEP 2
8 Do 9 Does 10 Does 11 Do
12 Does 13 Does 14 Does, work
* STEP 3
15 does 16 don’t 17 don’t 18 does
19 don’t 20 does 21 Does, doesn’t
0 A: Does B: No, he, doesn’t
1 A: Do B: Yes, they, do
2 A: Does B: No, he, doesn’t
3 A:Does B: No, she, doesn’t
4 A: Do B: Yes, |, do
*STEP 1
0 Hlo|&2 2|7|E Z0tskX| eb=Lt
1 JSPYS2 O AEE XI2X| =Lt
2 Ui 7= AX| ok=Ct
3 U&= X[0HE YX| ok=Ct
4 1 0{ME X}E ORAX| gb=Ct.
5 L MAESE 25 QX gheCt
6 7{=0|= ¢! CI2|E 74X QK] Q4T
7 J52 2o &2 KX eb=Ct

* STEP 2-

8 152 F7|E EofetL?

9 SiL{ZF atwol| ZHH2tE ZHK 1 2L?

10 4ol &2 I 7Ils Zotsi?

11 U= 017(0ff AfLf?

12 27bEE T2|9fsh?

13 E27[EE
2l

14 ~0jA e



* STEP 3+

15 A: ML= OFE Z0fstL|? BS
16 A L{s|S2 S0 7t|? B:

17 A UEs 3 00[0fA Hol|E FL? B

18 A: 49| olL= £ ZO0fotL|? B g
19 A D39t oj2|= TR0 AHL|? B: of
20 A JZ2 It 3AL]? B: 2
21 A J0fA| offtSE0| QULI? B: Of

OfL], JRX| 80F, 1= LIRS 4of

Hels LS 77

Ot|, J=X| oo, Jl4= J3lg T8,

s

L ATl LI

N
T >x®w>w>o>au >
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I
rr
i
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il
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(=] DFO|-.

S,

Jenny doesn'’t like dancing

She doesn’t have black eyes

| don’t need a knife

©® N O o0 A O N = O

9 Jane doesn’t want pizza

10 Mr. Baker doesn’t go to work by bus

11 He doesn't live in a big house

12 They don’t want a new car

13 My father doesn’t enjoy badminton
14 My girlfriend doesn’t like soccer games

15 The men don’t climb the mountains

16 Hawk doesn’t play the violin

0 A: Does Ben go to school
B: he does

1 A: Does he play the piano well
B: he does not[doesn’t]

2 A: Does she like the house
B: she does

3 A: Does the train leave soon
B: it does notldoesn’t]
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The little girls don’t jump on the bed
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My friend doesn’t go to school today
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The cat doesn’t sleep at night
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Those people don’t like Korean food
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The children don’t play in this room
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My sister doesn’t use a new cell phone
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: Do they like music

they do

: Do you feed the cat every day

do not[don’t]

: Does Mr. Park eat breakfast

he does

: Do the children clean the room
: they do not[don’t]

Does your mom remember me

: she does

: Does Jimmy like math

: he does not[doesn’t]

10 A: Do the rabbits have white hair
B: they do
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8 o] Yot= 4 :
A 2] YOtz LIS 7|2ASHAIL?

9 X|0|s 43t2 Zofsict,

Does a sheep eat grass?

Does he speak English?

© 0O N O a0 A O N = O

10 Do you bring your lunch?

0 x — does not[doesn’t] 1
2 0 3
4 x - Do 5
6 x — Does 7
8 O 9

10 x — do not[don’t]

Grammar in Use

B: 8, %ot
OfL|, x| gfof.
B: 8, %ot

p. 134

Frank does notldoesn’t] play soccer.

My brothers do not[don’t] eat vegetables.

Susie does not[doesn’t] like bugs.
Does the airplane arrive soon?
They do not[don’t] watch TV.

My uncle does not[doesn’t] live in Seoul.

Clara does not[doesn’t] have a new camera.

Mary and Jane do not[don’t] fight with each other.

x — have
x — like

x — does
X — clean

x — it does

11 x — does

Does / doesn’t / Does / doesn’t, drinks / Do / do

© 0O N OO O A WON = O
Z 0 T 40 £ IH
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ol

Sfuofl Zo{7L|?
i gSd2 G228 Z0fsHX| =Lt
AD|A M2 ZA 20210] 03201 2U?

028 | Answer Key

5 1 0jtiRe= etds MX| eh=Ct

6 1 A2 ZEE Halo| ofL?

7 272w Hasi?

8 JHF2lE2 n2|E 7HX| 1 QUX| 4Lt

9 AdAge ZBS B B
10 A 152 AES |7 B
11 A E2ls SMR0IM LotL]? B

: 8, ot
- OfL|, IFX| o,
© 8, ot

A EH2 223 70|32 Z0t6tL?
B: OfL|, x| 9ot
A O RS ORAL?
B: OfLl, K] olof. 2= Hum|E OtA
A L= oul]? L= XS ORAL?
B: 8, ot oty
Lesson 12 ® Empty Subject it ujoiz/=01 it
pp. 137,139
0 =M AlZE
2 ZH =M
4 Azt 5 A7t
6 AHH
0® 1@ 2@ 3@
4 ©
0® 1@ 2@ 3®
4 ©
0 January eighth (8th)
1 December third (3rd)
2 February tenth (10th)
3 March seventh (7th)
4 April sixteenth (16th)
5 May fifth (5th)
6 July twenty-seventh (27th)
7 October ninth (9th)
8 December thirty-first (31st)
0 =7tk 1 5A| FZo|ct,
2 stof 87t QL7 3 Q52 720/ UL
4 8A| Hzto|L|? 2= Alzto|L]?
6 742olct



<)
tO

rlo
40
Bl
jund
an

= 134y
AE0|ct. 3 9A| HZ}olCt
High 2= olct
0 22%o|ct,
1 oto] ofFch
2 5tuolA 1000/E 7z|C.
3 ogolct.
4 32|AOtACH
*STEP 1°
0-1 rainy 1 snowy
2 windy 3 cold
4 Tuesday 5 Wednesday
6 Saturday 7 spring
8 summer 9 dark
* STEP 2~
0-2 two (oh) five / five, two
10 three ten / ten, three
11 five twenty / twenty, five
12 seven thirty / half, seven
13 nine fifty / ten, ten
14 ten forty-five / a quarter, eleven
15 eleven o’clock
* STEP 3¢
0-3 September thirtieth (30th)
16 June second (2nd)
17 August first (1st)
18 November twenty-fifth (25th)
0 half past two 1 Friday
2 sunny 3 March 15th
0 At HAL? B: 2A] 30:20|0F.
1 A RE 20[L? B: 22Yo0|o}.
2 A M7} oL ? B: 0] got.
3 AT{EO|Y? B: 3& 150[0}.

0@ 10® 2 @ 3 ®

p. 140

p. 142

40
8 @
12 @
16 @

0@
4 ®
8@

5®
9 ®
13 ©

10®
5@
9@

0-1 Is it Monday

1 Isit hot

3 Is it ten o’clock

5 It is not Saturday

0 @ 33 9YolC}.

1 @ 20| 49| oS0ltt.

2 (@ 40| OfizL.

3 @ 017|A 3000|Ef #Hz|Ct

4 (@ I2 L] g2 dzolct

5 @ ol FLI?

0-1 HLYO|L|?

1 gL?

3 10Al EZo|L[?
5 EQO| OfL|Ct

2 xMHo|Ct.
A

20| 22|19 Xt2|L[?

0 What time is it?

2 |tis time for lunch.

4 What date is it?
6 It is Monday.

8 Is it dark outside?

10 It is June 25th.
12 What day is it?

14 It is half past four.

16 It is a quarter to ten.

6 @ 7 ©®
10 @ 1 @
14 @ 15 ©
2 @ 3 @
6 @ 7 ®

0-2 |t is not winter
2 It is not July 20th

4 It is not rainy

>N

e rlo

4
=f=l

Lol 7rolL|?
10]L[?

I e |

|
o
i Mo rlo oy rio rlo
400X me |J
o o
QU
it}
h=
n
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o

740

|

42| #Ho|L|?

Ltef Zolct

©® @ @000
—
6

3740

0-2 20| OfL|C}.
2 72 2020] OFLCY,
4 H|7} 2| 4=t

1 Itis sunny today.

3 Is it cold outside?
5 Is it your birthday?
7 It takes 2 hours.

9 How is the weather?

11 It is ten o’clock.

13 Is it summer there?

Oftbte] BRICE,

p. 144

15 Itis 1 km from here.

17 It takes ten minutes from here.

18 Is it July eighth?

0 March fifth (5th), sunny
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Monday, rainy

six o’clock, takes
Thursday, It

seven o’clock, It

It, snowy

It, It

It, cloudy

May fourth (4th), spring

0 N O a0 b~ ODN =

Grammar in Use

This = It, There — It, That — It, This - It

A

0 FAIL? 1 252 STt

2 FyY Alztolct, 3 o] FLI?

4 DiEOIL[? 5 Lo Hoju|?

6 HLYo|Ct 7 2A1Zto] Zelch

8 2 oLl 9 M7 OfHL|?

10 6 25%0|C}, 11 10A] gZolct,

12 2 QYo|4? 13 32 o{E0|L?
14 4A| 30=20IC}. 15 017|M 1Z=20|8 AH2|ch
16 10A1 15%2 T (9A] 4582)0]C}, 17 0{7|M 10& Zg/Ch
18 7 8YO[L|?

Grammar in Use

5% 27¢0[ct EQYO|Ct 252 sHESICE 22| 7152 S0l Zict 22| o
A 1A[ZHO ZRICE L= O 3RS Zoisict 2z 2 32lolo ZAICH T
2 9 Alztolch
REVIEW TEST @: LESSONS 10-12 p. 146
1@ 23 3G 4@ 50 6@ 706
8@ 9 @ 10 Does 1 @ 12 @
13 mixes 14 He, teaches
15 It is[lt’s] March thirty-first (31st) 16 @ 17 ®
18 does, Do, don’t 19 D 20 ®
1@
e DQEG® yEIZHHL +-es @ +-s
203

@ M7t Tt
@ Higo| 2ot

030 | Answer Key

® ofL

[, 2| §40L

@ &, d= ZXE M.
4@
I Dgo @goes @go @Dgo ®go
5®
® 322 el #o|u?
@ 2sg &L
3 #edo|u|?
@ 9A| 30&0IC},
® H}o] ofFLE.

SiM: D cHHALt @ HIQIEFO it @ HIQIEFO] it
@ HIRIEFO0l it @ HIQIEZFO0 it
6 @
@ L= RKE oA gb=Ct. L= ALIS it
@ J= Q0= YotX| b=Ct. O= S7015 YEih
@ 252 HAR JIX| gb=L}. 252 ArSXIE 7iCh
@ O gXEL HILAE XIX| ed=Ct. 52 HHERIES FCH
® I AEE2 TE|0]| 71X gb=Ct. 352 o 2Tk
sfM: D don't @ doesnt (@ dont @dont (® dont
70
@ L= 1Y0|E Z0fst]?
@ 252 JIXtE ERL?
B el RZEHO| 0|2 E QAJL|?
@ L7t FAlg otte?
® JLHOAH 77t AL?
HE:DDo @Do @Do @Do (® Does
8 @

<M HUE/O HRE2/Ue 2RYE2/He FIFPES HE

oict,

s 4301 + don't + SARE
9 @

* OfiLt=/ 12| 1Qf0|=/=/142| O |= EHE & AfL?
8HM: Does + 3QI& TH-F0] + SALRIE ~?
10 Does
8{AM: Does + 3QIE THF0] + SALRIE ~?
1 @

+ Jld= Hofl S2E ot?
3{M: Does + 3212 BHF0f + SALRIE ~?
12 @

4 50IC},

* 3A| F2fo|ct.

+ H7|= AS0| OfLIC},
SHA: o, AlZh APES 2 = HIQIESO it
13 mixes
SiiAd: 3017 th0] + UBtsAte| 301F thadd
14 He, teaches
SiAd: 3Q1F] Et0] + UBtsAte] 301 thad

15 It is[It's] March thirty-first (31st)

s S 2 S ol
16 @

@ 2= HolgRIZ HF
@ B2l Higlo| g L2
® Jolise TS
@ 29l 2REe il

0 it



17 ©

® 3 LR Dofvt Hefx| =t
@ 2 7hs2 AR k=t

® 1 2452 RA| =L

@ Lt otys YAl =L

@ JH0A = offetE=0]| gict

A: ® has - have
18 does, Do, don’t
A Els XEHE THR| 2 QUL?
B: &, 01
A: & ofif? L= X
B: OfL|, JZX| etof,

Fei748 4% Ll

19 @©
22| Hot= oY 8 TVE 2.1
D g4 LIojIA| QIALE STt
U dLl= L EXR2(of EC
20 ®
+ S|z AlRE Z0t6iL?
L= 2ol Z|oH=S X|X| =Lt

* 09710f|M T{L[?

studies hard

Do, like roses

does not[doesn’t] buy a hat
clean the room

do not[don’t] have cell phones
Does, close the window

does not[doesn’t] watch movies

0 N O a0 A ODN =

Does, arrive on time

He teaches English at school
She misses her family
The baby cries in the room

My brother enjoys the game

p. 148

7 HMil= F3tE 2R od=rh
=t

8 1 7|Xk= HAlZtof ==

0 d M
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( Workbook )

Lesson 1 @ Countable Nouns %! - ¢/= 2ixt

o O~ ON =

Does John do Taekwondo
The man doesn’t carry his dog

Is it windy outside

©® N O o0 A O DN =

It is Sunday

W @2 B2 B sict

Lol fotet 0|2 HOIZ SOFHAILI?
1 04t BRKS AHX| St

1 AUSS W2 At

W 852 FoiHatS 71D i) Lt
0 YRt #2E T

0 Z0iPPl= =2t 207

0 hats 1 people 2 foxes 3 cities

4 keys 5 wives 6 feet 7 puppies

8 radios 9 potatoes 10 churches11 leaves

12 oxen 13 sheep 14 roofs 15 brushes
0 fish 1 children

2 feet 3 knives

4 sandwiches 5 mice

6 oranges 7 cherries, tomatoes

0 map 1 piano 2 books 3 matches
4 potato 5 glasses 6 ladies 7 dress

8 shelves 9 heroes

0 ® 10 2 ® 3 ®

4@

0 three babies 1 two windows

2 five boxes 3 Two bags

4 Ten deer 5 pair of sneakers

6 A[One] frog

0 They are wolves
2 They are stories

4 They are monkeys

< ofj}

1 They are geese

3 They are watches

UL
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Lesson 2 @ Uncountable Nouns ! = g/ = 2ixf
p.
0 x 1 x 2 a 3 x
4 x 5a 6 a 7
8 x 9 a
0 cups 1 sheets 2 bowls 3 boxes
4 bags 5 slice
0 bowls 1 homework 2 aleaf
3 salt 4 Chinese 5 badminton
6 time 7 loaves 8 a letter, letters
9 bacon, a piece of bacon

o

®
4 ®

032 | Answer Key

1@ 2 @

3 ®

7

two loaves of bread

three bars of chocolate

0
1
2 a box[pack] of cereal
3 a bag of flour

4

a bottle of ketchup

You can get three cans of soda.

X

0
1
2 They buy two bottles of wine.
3 x

4

| need five glasses of water.
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N O 0 A~ WON = O

N o b~ ON = O

4 an 5 x 6 a 7 an

8 a 9 x 10 a 11 x
12 an 13 a 14 a 15 a
16 x 17 an

0 the 1 x 2 x 3 the

4 the 5 x 6 the 7 the

8 x 9 the 10 x 11 x
12 x 13 x

0 an, The 1 the,a 2 an, The 3 a, The
4 the,the 5 a,the 6 a, the 7 An, The
0 x 1 the 2 the 3 a

4 a 5 x 6 x 7 x

8 an

0 a basket 1 auniversity student

2 the cello 3 work 4 anlone] hour
5 a week 6 the sky 7 home

0 | have a red umbrella

1 This is a fresh eggplant

2 He has an expensive watch

3 That is an interesting story

4 He is a great actor
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Lesson 4 @ Personal Pronouns ©/z/cfziAt

o & M O

N O 0~ WON = O

N

p.13

0 =3 AQUHYAL 257
3 287 =2k AQChEA
6 ARA 7 =4

her you He

mine 4 Your 5 them
6 us 7 Its
0 my 1 Their 2 She
3 him 4 lts 5 your
6 We 7 his 8 her
9 you 10 mine
0 ® 1@ 2 ® 3 ®
4 @
0 hers 1 lts 2 him
3 You 4 it 5 our
6 his 7 They 8 theirs
0 The ball is his 1 The purse is hers

2 The skirt is yours
4 The boat is theirs

3 The photo is ours

O Lo geof Mdgolct 1 1 FHEXl= 29 Zoju?
Ui LHE 7195t ? 3 U7t 9| JEHHEE M= Et?
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© 0 N o o

0 1 giS2 Lte| Ao|ct, 1 JlHE 286t 280t
2 E20|H F Yol LIE EEe ZolCt
0| 7|Ek= 1 (8lE) 2l ZolCk 4 79| Y= ECt
0 122 12| Zo|ct. / O Z& 19| ZHolCt
1 0242 39| X|Zo|ct. / T X J142| Z{o|ct,
2 732 el X[OtC}. / O X|ok= 2] Zio]lCk
3 T2 22(9| AFRIOICE / O AMElE 22[2] Zi0|Ct.
4 1742 59| vic}. / O e J359] 0]t
Lesson 5 ® Demonstrative Pronouns
RIA|CHE AL
0 These 1 That 2 Those
3 This 4 This 5 These
0 stars 1 table 2 strawberries
3 roses 4 book 5 coat
0 those 1 box 2 those
3 These 4 This 5 That
6 those 7 dishes 8 movie
9 is 10 are
0@ 10 2 ® 3@
4 ®
0 That candy is sweet
1 Those caps are mine
2 This peach is delicious
3 These computers are expensive
4 That doctor is my uncle
5 These towels are dirty
6 That river is long
7 Those clocks are round
8 These bottles are empty

0 These are mugs

034 | Answer Key

a A O N = O

© 0 N O O~ OWN = O

10 XM=ES

A WO N = O

Lesson 6

1 Those are iguanas
2 These bicycles are old
3 Those books are great

4 These are fans
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Possessive Nouns,
Noun-Pronoun Agreement
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0 they 1 she 2 we 3 we
4 they 5 it 6 he 7 you



N O a0~ ON =< O

© 0 N O g b~ ON =2 O

A WO N = O

8 it 9 you 10 they 11 he
12 they 13 it 14 we 15 she
0 mom’s 1 girls’ 2 boys’

3 children’s 4 David’s 5 friend’s
6 men’s 7 Jenna’s

0 We 1 him 2 it 3 They
4 your 5 them 6 They 7 our
8 His 9 his

0® 10 2 ® 3@
4 ®

0 Mike’s, His 1 Alice’s, Her 2 Katie’s, It

3 Joshua’s, his 4 my mom’s, They

It is Mary’s muffler
It is my mom’s apron
They are Ashley’s flowers

They are my brother’s bags

A W M = O

It is Susan’s wallet
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2 72 7|0[E|2] X|Zo|ct, I A1 HatMolC
3 2 ZF0te| XL, JZiol= 19| 01F0] AUrt
4 TZi2 22| otel etFoltt, %2 2ot
0 1 52|z o2lef Aoct / 2% t2|e] Sx2|ct,
1 1 X0k 22| Yote| Zojct / azi2 22| Yoo §AX|oiCE,
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Lesson 7 @ Be Verbs pe=xto| siafAlx
p. 22
0 are/ We're 1 is/She’s 2 are / They’re
3 is/lt’s 4 am/I'm 5 is/He’s
6 are/ You're
0 is not/ He isn’t in the hospital
1 are not / They aren’t firefighters
2 is not/ Itisn’t his key
3 are not / We aren’t a team
4 is not / She isn’t a bad person
5 are not / You aren’t lucky
0 A:ls,it B: No, it, isn’t
1 A:ls, he B: No, he, isn’t
2 A: Are,they B: Yes, they, are
3 A:ls, she B: Yes, she, is
4 A: Are, you B: No, I’'m, not
5 A: Are, we B: No, we, aren’t
6 A: Am, | B: Yes, you, are
0® 10 20 3@
4 ©
0 They are on the street.
1 ltis not an old house.
2 |s he a math teacher?
3 She is at the airport.
4 | am not a brave person.
5 Is it a free ticket?
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6 You are very strong.

7 We are not in the classroom.

0 We are actors

1 They are good players
2 You are nice people

3 They are fun games

4 They are fast runners

0 <2l m=sitt

1 JliE Q& djtEct

2 052 PA 3Lt ULt

3 72 J07A = EX|C,

4 L= 9] Tt

5 J= ZUCL
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0 = Helol| AUX| giCt

1 OS2 AYES0| ofLTt,

2 D712 09| F4|7t ofct,

3 2= & =o| ofct,

4 4= L2 ARHo] ofct,

5 U= 20| gich
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Lesson 8 @ Various Subjects and Be Verbs
012f 7kX| =012} beSAt
p. 25
0is 1 are 2is 3 are
4 is 5 are 6 are 7 is
0 isn’t 1 aren’t aren’t 3 aren’t
4 isn’'t 5 aren’t isn’t 7 aren’t
0 A:ls, that tit, is
1 A:ls, Sarah : she, is
2 A: Are, these : they, aren’t
3 A:ls, this sit, is
4 A:ls, the food tit, isn’t
5 A: Are, your shoes : they, are
6 A: Are, those rooms : they, aren’t
0® 1® @ 3 ®
4 ®
0 This is my favorite color.
1 That is notlisn’t] true.
2 |s your grandpa’s farm big?
3 That classroom is notlisn’t] large.
4 The birds are on the tree.
5 Are these trays and dishes heavy?
6 Are those his gold medals?
7 Ana and Tina are notlaren’t] sisters.

Our beds are comfortable
Their tails are short

Their hamburgers are delicious
Your pictures are amazing
Their hats are colorful

= K
i
X
o
=3
an

o
o
>
]
i
°
n

2

e TE

o
o o
o
inl

T
on
)

il

ooun ru ong
rlo
>
]
il

ol
im)
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0 A XZ0| Lo ZREL]? B: S, ™ot

1 A ARt HEL? B: 8, Mz,

2 AO|ZiS2 Af Ao|L? B: ObL|, J=X| o}
3 A 0[O LH A2|u? B: &, %ot

4 A1 S20] SHIL? B: OfL|, =] oo
5 A el Mgk SlMofL? B: 8, %Ok

6 AKX UES ELI? B: OfL|, I&X| oot

7 There is,(@ sheep)
8 There are,(grapes)

0 There isn’t

3 There aren’t

o

There isn’t

A: Is, there
A: Are, there
A: Are, there
A: Is, there
A: s, there
A: Are, there

a A W N = O

0 There is a toaster

1 There aren’t
4 There isn’t
7 Thereisn’t

B: there, isn’t
B: there, are
B: there, aren’t
B: there, is

B: there, isn’t

B: there, aren’t

2 There aren’t

5 There aren’t

1 There are some spoons

0 0|z RE|2| AT} OFLIT
1 A XS Bl B: OfL|, IZIA]| Qo 2 There is a refrigerator 3 There is a rug
2 71 ZHM ARRH= } oo QIC 4 There are three cups
3 X RO|C|HS2 xHo|QUCH
4 "ol g2 FHICh 0 Is there any bread in the basket?
1 There is notlisn’t] any flour in the bag.
0 0[740] L7} 7Hxt Zofste Aol 2 There is a world map on the wall.
1 X72 zlAlo| ofL|ct 3 There are notlaren’t] books on the shelf.
2 o] ZoHX|el s&2 AL? 4 Are there any girls under the tree?
3 M med2 3 et 5 There are slippers in the bathroom.
: Ojlgziz;;::jggi;m 6 There is some juice in the jar.
6 XSS J1o gHEHOL?
7 OHL{®} E|Lb= XtOf7} OfL|Ct 0 There aren’t any bugs in the room
1 There is some money in the drawer
2 There are some tulips in the flower shop
Wi Zchs motsict / 22|of EthE2 Hotsio . o
:) jHZTQ\H£E|E gﬂ; j ;ﬁl%lg‘ PEIE - I 3 There isn’t any rice in the soup
2 79| A= QIRICE / OS2 MHASS ST
3 o] ARl SIX|CH / 45|59 ARRIS2 SIXICH
4 9| IA= sl2feict | 1S9 BASS sl2{siCt 0 Eol 2 O 0]} 9Uc
1 EfXtof2foll nefo|7 & of2f Ik
2 % otof] E0tESO0| & UCH
Lesson 9 @ There is / There are 3 RIS} ofol FAPt st gict,
There is / There are 4 7Eloll B2 ARSI ATt
AES ofol| &2 Af Bt OF2|7} QT
S
: 7 SEf2| Slof| ¥0| 3t Ot2| QULCH.
0 There are, five flowers 8 in T‘|;‘| z—LE%low %L! r
1 There is,(a cab)
2 There are,(some tomatoes)
9 Mz Ak 0 sl 20| siLiE g
2 ST R T 15 10 ALEIO| SiLiE SiCt
5 There is,(a little bird) 2 WET otof| S0 gich
6 There is,(some jam) 3 Feloll Zo|So gict
4 Hoi| K7t gich
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6 & otof Zlck} gict. 0® 1@ 2 ® 30
7 Mg etof Zro| gict. 43
0 walks 1 jumps 2 go 3 carries
0 A g oto| 2 EfXpIt Bt QILI? B: OfL, giof.
1 A Ztof Zapo[HS0] L7 B 2 901 4 washes 5 feeds 6 enjoy
2 A AREotof w7k Algrol QlLf? B: OfL, gi0].
3 A: @& ¢tof| 7|7t & QUL|? B: 8, o1 0 My father always gets up early
4 A EYT Qoll AT of o QlL|? B: OfL], glof. 1 | cook dinner on Saturdays
5 A ST 2301 8l B: Of, 2101, 2 Steve always wears jeans
3 He climbs the mountain every Sunday
0 EXF Slof EAE{7[7} QUCh
1 22 olofl 27120 Z 74 Qict,
2 AAch gof Wit it
3 £t ofeloll 2Kt it 0 HIRIE B HHS trert
4 EAE{7| Fof Zo| N & QUCt, W SHE2 g4t z|M S Chsict
1 U 22ue x|x 0|32 B=ct
22| opH= HEIS FECt
0 HIFL| 2tof ol & SILI? 2 L EPIE R HIES el
1 %1% olof 27123} iUl gt T EresE s seen
2. 0l MR} siLt Sick, 8 JEemEsimnH
3 I8 9lof HSo0| gict, JEd=g 1=
4 L1 ofzh ALS0| = 9117 4 71 0[of= xHAlo| FHE TE|YBICH
5 24 olof 22w} 9t T ojo|S2 RS Fg TR|Et
6 1 olol F27} =3 9ict 5 MRS S12S
1 S48|5e 50| it
0 & Ofof Hal7t & QUCH / & otof a7} St gict
1 Afat ool £0] SILIE SiC / Mzt olol 20| =3 ek, 0 tHOIXOP= 2 7#7 U
2 2H0| 20| sitE 2ict, / 2ol B0l £3 ck. 1 L ER0ISE 7IEIS S
3 2 ol0j ¥0| £3 9Uck. / = ohof o] shLb Bic 2 2wt o ol et
3 98| 0t= LUytZot Tze MLt
4 1= QIFLL 04D AAlE| wRIBHCY
5 98| SO{X|S AHAIQ| SES AIZEITH
6 A9t 10| OpHs T YU £ H7|E 2ot
Lesson 10 @ Simple Present Tense 7 U 80| wolM 2H= st
Lot Ate] SAAIK| 8 ZL|= 48tg ZEsIC)
b. 31 9 e xSxE0| 1 TS ML

0 goes 1 plays 2 studies 3 has

. . 0 ZE2= &¢ calis RECL
4 catches 5 enjoys 6 pushes 7 arrives = =
1 11 0§QIS0| DHEES "RICH
8 watches 9 cries 10 passes 11 buys 2 1 37 ool 2}
12 cleans 13 exercises 3 I YRt g et
4 U 0|2S0| F7|1E & MCh
0 does, do 1 bake, bakes
2 fixes, fix 3 teach, teaches
0 2| Oftith= U AOJLtC}. / 22| Oftith= XL} U2 A0{LHTF
IS D IS Y7 1 LI X4 AXE 228} / L E20iCt X ANE 223t
2 AE[E= FHIXIE Y=Ch/ AEE= g4 FHIXIS Y0t
0 has 1 play 2 brushes 3 mixes 3 T Ao QECE / J= o3 Lo Lol 2ELC}
4 tries 5 loves 6 watch 7 does

8 studies 9 pass
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Lesson 11

N O a0~ ON =< O

[

Negatives & Questions of

Simple Present Tense
UHLSA HRAH 2| By 2D 0|22

; T o

p. 34

0 doesn’tlike 1 doesn’ttalk 2 doesn’tleave

3 don’t want 4 doesn’t come 5 doesn’t have
6 don't live 7 don’t cry
0 Does, bring 1 Do, study
4 Do, take

7 Does, go

2 Does, play

3 Do, eat 5 Does, wear

[}

Does, stop

: Does, run : he, does
: Do, play they, do
: Does, watch
: Do, like

: Does, clean

: she, doesn’t
do
: he, doesn’t

: Does, have :it, does

o o b W N =2 O
> > 2> > > > >
WD W W W W W

: Do, live :we, don’t

1@ 2 ® 3 ®

@
@

H

| do notldon’t] like cats.

We do not[don’t] have a garden.

Does she live in a big city?

Jenny does not[doesn’t] go to Bangkok.
Do they work at the restaurant?

My sister and | do not[don’t] sleep together.

Does the hospital open early?

N O o A ON = O

Does your son study English?

My little sister doesn’t eat eggs
The tall man doesn’t wear glasses
Does Boram have a black dress

Sammy doesn’t take a picture

A WO M = O

Do they go to that store
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00 10 20 30 ( Mid-Term / Final Exam )

4 © 50 6 ®
0 windy 1 May ninth(9th) 2 date
3 to 4 past 5 day
6 It 7 Thursday 8 winter 10 20 3® 40 50 60 70
9 takes 82 9@ 10O 11 O®,0G 12 @ 13 @
14 2 153 16 D 17 ® 18 ® 19 ® 20 @
0 It is Tuesday today 21 @ 22 (& 23 Those roses are yours.
1 It is snowy 24 | read three books a week.
2 It is July fifteenth 25 are my sister’s baskets
3 It is twelve o’clock
4 It is summer there 16
5 Itis cold outside #A: 3 persons — people
6 It is time for bed 20
7 It takes three hours from my school 314: @ rooves — roofs
3@
0 Is it cloudy * LH0f|7il= oto|7t / 2&o] / &IFt7}H/ 2107|7F L|?
1 It isn’t eight o’clock S D H A A @A 5 A= BAF O H =+ AUs A
@ 2 o= A O+ As A
2 Is it Thursday -
A 9l HAL Yol REBAE 2 4 STt
3 It isn’t dark outside
o 4 G
4 |s it time for breakfast A LI 0K At 2012 L7
B: @ Ltz +Z 5t AR5 Ao,
@ L= 5t 5oi2|E Hof.,
@ Ltz 2K & T2 OfA.
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